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(a) v =ky

(b) ¢y =ycota

(c) y' =32y

(d) ¥ +ay+b=

(e) ylzexyB

1)y =T=7
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[t = [

arcsiny = x+¢

y = sin(x+c¢)
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2ude + ady =0, p(x) ==

a
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b) ady—ydr =0,  plx) = %
(c) sinydx + cosydy =0,  pu(x)=¢€"
(d) y?de + (1 +ay)dy =0, p(z,y)=e"
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cVy?dr + (1 +xy)dy = 0
P, = [y, = 2ye™ + zy*e™, Q, = 2ye™ + zy*c™ 00 DE
(1 + ay)dy + I(x)

u = /exydy—l—/xye”dy—l—l(x)

u =

1
= —e" 4 ye™ — / eVdy + l(x)
x

1 1
= —e"V4ye™ — —e™ 4+ [(x)
x x

= ye +(x)
ou

e y’e™ +1'(x) = P(x) = y*e™



u = yel+e
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(@) y(x4+y+1)de+z(z+3y+2)dy=0
(b) (2w —5y)de+ (4o —y)dy =0, y(1)=4
(c) =(22? +y?) +y(2* + 297y’ = 0
(d) (%—I—x) d:zﬁ—l—(y—su;—z)x) dy =0
(e) 2oy —3)da + (a® +4y)dy =0, y(1) =2
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